Arvo Merkinta Arvo Merkinta Arvo Merkinta Arvo Merkinta

1 ohm 1RO 1 ohm 1RO 1 ohm 1RO 1 ohm 1RO
4.7 ohm 4R7 4.7 ohm 4R7 4.7 ohm 4R7 4.7 ohm 4R7
8.2 ohm 8R2 8.2 ohm 8R2 8.2 ohm 8R2 8.2 ohm 8R2
10 ohm 10R 10 ohm 10R 10 ohm 10R 10 ohm 10R
15 ohm 15R 15 ohm 15R 15 ohm 15R 15 ohm 15R
18 ohm 18R 18 ohm 18R 18 ohm 18R 18 ohm 18R
33 ohm 33Rtai 330 33 ohm 33R tai 330 33 ohm 33Rtai 330 33 ohm 33Rtai 330
39 ohm 39R 39 ohm 39R 39 ohm 39R 39 ohm 39R
56 ohm 56R 56 ohm 56R 56 ohm 56R 56 ohm 56R
68 ohm 68R 68 ohm 68R 68 ohm 68R 68 ohm 68R
82 ohm 82R 82 ohm 82R 82 ohm 82R 82 ohm 82R
100 ohm 101 100 ohm 101 100 ohm 101 100 ohm 101
120 ohm 121 120 ohm 121 120 ohm 121 120 ohm 121
220 ohm 221 220 ohm 221 220 ohm 221 220 ohm 221
330 ohm 331 330 ohm 331 330 ohm 331 330 ohm 331
470 ohm 471 470 ohm 471 470 ohm 471 470 ohm 471
680 ohm 681 680 ohm 681 680 ohm 681 680 ohm 681
820 ohm 821 820 ohm 821 820 ohm 821 820 ohm 821
1k 102 1k 102 1k 102 1k 102
1.2k 122 1.2k 122 1.2k 122 1.2k 122
1.5k 152 1.5k 152 1.5k 152 1.5k 152
2.2k 222 2.2k 222 2.2k 222 2.2k 222
2.7k 272 2.7k 272 2.7k 272 2.7k 272
3.9k 392 3.9k 392 3.9k 392 3.9k 392
4.7k 472 4.7k 472 4.7k 472 4.7k 472
6.8k 682 6.8k 682 6.8k 682 6.8k 682
8.2k 822 8.2k 822 8.2k 822 8.2k 822
10k 103 10k 103 10k 103 10k 103
18k 183 18k 183 18k 183 18k 183
22k 223 22k 223 22k 223 22k 223
30.1k 3012 30.1k 3012 30.1k 3012 30.1k 3012
33k 333 33k 333 33k 333 33k 333
47k 473 47k 473 47k 473 47k 473
56k 563 56k 563 56k 563 56k 563
62k 623 62k 623 62k 623 62k 623
82k 823 82k 823 82k 823 82k 823
100k 104 100k 104 100k 104 100k 104
120k 124 120k 124 120k 124 120k 124
180k 184 180k 184 180k 184 180k 184
220k 224 220k 224 220k 224 220k 224
330k 334 330k 334 330k 334 330k 334
470k 474 470k 474 470k 474 470k 474
560k 564 560k 564 560k 564 560k 564
820k 824 820k 824 820k 824 820k 824
Y 105 1M 105 1M 105 1M 105
1.5M 155 1.5M 155 1.5M 155 1.5M 155
2.2M 225 2.2M 225 2.2M 225 2.2M 225
3.3M 335 3.3M 335 3.3M 335 3.3M 335
4.7M 475 4.7M 475 4.7M 475 4.7M 475
5.6M 565 5.6M 565 5.6M 565 5.6M 565
50 eri arvoa, 50 eri arvoa, 50 eri arvoa, 50 eri arvoa,

50 kpl kutakin = 50 kpl kutakin = 50 kpl kutakin = 50 kpl kutakin =

2500 kpl 2500 kpl 2500 kpl 2500 kpl



